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7.2 Solving Systems Graphically

* The solution of a system of equations is the point of intersection of the
two graphs. This coordinate satisfies both equations at the same time.
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ex. A box of 36 golf balls has a mass of 1806 g. If we remove 12 balls, the
box has a mass of 1254 g. What is the mass of one ball? How much does the
empty box weigh?

let x = the mass of one ball y = the mass of the box
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Test the solution in equation @&@ 7( -t 52\2_6

4

feob (4, 180D
D 36(46)+ 180 @ z4(4b)+180
= 324 = /234

i whis e 25t

R Y
 The %;p oayhs about g ard

2o botuahs crowad z%b«3({bb3 etk
)

Homefun: Pg. 409 # 3-9, 11, 12, 15, 19




